Human Geography 
· Demography = statistical study of human populations

· Population rates = predict and explain changes in society

· 3 components

· Birth Rate

· Death Rate

· Migration

· Birth Rate – Deaths + immigrants – emigrants = increase/decrease in population

· Birth Rate and Death Rate both say a lot about the country (religious/cultural practices, standard of living, ability to work, health conditions)

· Crude Birth Rate

· Calculating the average number of births in a year per 1000 people, then multiple the result by 1000 (same for crude Death Rate)

· Subtracting deaths from births give the natural increase of the country

· Example – India 1 billion, 25/1000 births = 2.5%, Canada 33 million, 11/1000 = 1.1%

· Canada’s crude Death Rate = 7/1000 = natural increase of 0.4%

· Rule of 70

· Populations can grow exponentially (family with 2 kids, 2 kids have 2 kids each, etc.)

· Length of time to double in size

· Doubling time equal to ~ 70

· 70 divided by growth rate = #

· Immigration (entering), emigration (exiting) Rates

· Difference between them = net migration rate (/1000)

· Birth/death/net migration rate = complete picture of annual population change in Canada

· BR-DR+/-NMR = Pop. Growth Rate

· Immigration is the main reason why Canada, and many other 1st World populations continue to grow

· Life Expectancy = Average # of years people are to live (men are always 4-5 years shorter than women, Canada women 85, men 80)

· Disease, poor medical care/nutrition, unsanitary living conditions result in lower life expectancy

· World Health Organization (WHO) gives aid to impoverished countries = lowered death rate, but birth rate still high = pop. Boom after WWII (Demographic Revolution)
· Demographic Transition Model:

· Changes over a period of time for; BR, DR, and trends in overall population #’s.
· Based on what has occurred in developed countries, assumes that developing countries will experience industrialization and urbanization and therefore will follow the same model

· Stage 1: BR & DR fluctuate with each other, but is high = low, relatively stable, no growth population (some localized pockets around the world)
· Stage 2: BR remains high, DR falls rapidly = huge increase in population growth (Kenya)

· Stage 3: DR levels off, BR decreases rapidly, population growth rate still goes up, but slows down (China)

· Stage 4: DR low and still dropping, BR still falling, population growth starts levelling off (Canada)

· Stage 5: BR goes below DR, population growth rate gradually goes into negative (Austria)
